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BCM-106 / BC-02
Business Statistic and Mathematics/

Business Statistic
ARG RS 3R T / raanfis AiRkegd!
Bachelor of Commerce (B.Com.-10/16/17)

First Year Examination, 2019

Time: 03 Hours Max. Marks: 80

Note: This paper is of Eighty (80) marks, divided into
two (02) sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

e U U uF SRRfl (80) bl HT B S Gl (02)
Quel, & JAT @ H faaira 2| ge @ve | e
faegd el & SR & Ul &1 8T HRAT @

SECTION A / (Gue—a)
(Long-Answer-Type Questions) /
CEESMNEIERES)

Note: Section 'A' contains five (05) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any three (03) questions.

(3x15=45)
dic: @vs ‘F H UM (05) A IRl arel wed A
g Udd U @ fau uwmg (15) ofw fuiRa €
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g
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1. What is meant by business forecasting? What are
its object? Explain briefly the main methods used

in business forecasting.

FEEReG qagad & ar J 77 sEHd
IGTT BRI o7 el H AEHe qarga | uge
@ S aTell g Qe w1 qHsIgy |

2. Write an essay on statistical system in India.

TR ¥ IiRIBT FaRAT WX Th oI foIfRgu |

3. Find out Arithmetic mean, mode and median of

the following series-

Income No. of Persons
4 (F)
100-200 15
100-300 33
100—400 63
100-500 83
100-600 100
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=1 SOl &7 FAR AT, 98D doI AlegdT A
IZ_

ama (%) # faeal oY G
100-200 15
100-300 33
100—400 63
100500 83
100—600 100

4. Find out Karl Pearson’s sufficient of correlation
from the following data.

Series (x) Series (Y)
17 12
18 16
19 14
19 11
20 15
20 19
21 22
21 16
22 15
23 20
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1 Fal 9 Bl U9 Ggas Ui =

3ot (x) o7 (Y)
17 12
18 16
19 14
19 11
20 15
20 19
21 22
21 16
22 15
23 20

5. Given below are the data for marks in
mathematics and accounts iIn a certain
examination. Obtain the two regression equations.

Maths Accounts
Mean marks 75 70
Standard Deviation 06 08

Coefficient of correlation (r=+ 0.72)
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fodl odtem # ford U9 or@rfafy # urdiel @
PIFTY—

forg orgTtafer
AT b 75 70
gqTg fa=rer= 06 08

TedH oD (r= + 0.72)
SECTION-B / (@rs—)

(Short-Answer Type Questions)

Note: Section ‘B’ contains eight (08) short-answer
type questions of seven (07) marks each. Learners are
required to answer any five (05) questions only.

dle: @veg @ # e (08) oY S ¥eH ¥ W E
IAd g B fow A (07) 3fw fReiRa €1 frnferar
BT 394 W DI Ud (05) YAl B IR o 7 |

1. Define Statistics.
JikersT BT IRYINT BT |

2. Which points must be considered while

constructing graphs? State.
RGIRAT B AT B qHI b favgall &1 & A

GAT JMAeIP & | IAT8T?
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3. Differentiate permutations and Combinations.

PHY AT G BT AN WL DI |

4. What do you mean by time series?
Hi—ofl fIgelvor § M Fr T 27

5. Distinguish between dispersion and skewness.

3gfhor gon fAvgar § 9g we HIfv |

6. Find out median in the following series.
S No- 1 2 3 4 5 6 7 8
Marks- 7 9 10 18 20 28 30 40

=1 210 | HegaT Sa BIfog—
HHIH— 1 2 3 4 5 6 7 8
AT Teh— 7 9 10 18 20 28 30 40

7. The Arithmetic mean of the following distribution
is 10.6. Find out unknown value.
Value- 7 10 - 12
Frequency- 2 5 2 1

=1 41 &1 ATey 10.6 B | AT Hod ST BIfSTT—
Hed— 7 10 - 12
IRARAT— 2 5 2 1
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8. If it rains, a taxi driver can earn Rs 1400/- per
day. If it is a clear day, he can lose Rs 200/-. If the
probability of rain is 0.55. Find his expectation.

gfe g9l 8l 8, dF U RN | UfafeT 1400
®YY A Wbl B | I Gerr faT 8, dr 200 w
@I BINT B |hdll © | A a7 BI UI¥ehar 0.55 & ol
BT UIRAT i1 I |

skesfeskskskek
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